
7975.01 F   
 

 
 

 
 
 

General Certificate of Secondary Education 
2013 

 
   

Religious Studies 

 Paper 2  

(A) The Christian Church with a Focus on 
the Catholic Church  

[GRS21] 

MONDAY 13 MAY, MORNING 

 

 
 
 

MARK 
SCHEME 

 
 
 

http://www.studentbounty.com
http://www.studentbounty.com
http://www.StudentBounty.com


7975.01 F 2  
 

General Marking Instructions and Mark Grids 
 
Introduction 
Mark schemes are intended to ensure that the GCSE examination is marked consistently and 
fairly. The mark schemes provide markers with an indication of the nature and range of 
candidates’ responses likely to be worthy of credit. They also set out the criteria that they should 
apply in allocating marks to candidates’ responses. The mark schemes should be read in 
conjunction with these marking instructions. 
 
Assessment objectives 
Below are the assessment objectives for GCSE Religious Studies. 
 
Candidates must: 
• describe, explain and analyse, using knowledge and understanding (AO1); and 
• use evidence and reasoned argument to express and evaluate personal responses, 

informed insights and differing viewpoints (AO2). 
 
AO1 and AO2 are interrelated and connections must be made. 
 
Quality of candidates’ responses 
In marking the examination papers, examiners should be looking for a quality response 
reflecting the level of maturity which may reasonably be expected of a 16-year-old which is the 
age at which the majority of candidates sit their GCSE examinations. 
 
Flexibility in marking 
Mark schemes are not intended to be totally prescriptive. No mark scheme can cover all the 
responses which candidates may produce. In the event of unanticipated answers, examiners 
are expected to use their professional judgement to assess the validity of answers. If an answer 
is particularly problematic, then examiners should seek the guidance of the Supervising 
Examiner. 
 
Positive marking 
Examiners must be positive in their marking, giving appropriate credit for description, 
explanation and analysis, using knowledge and understanding and for the appropriate use of 
evidence and reasoned argument to express and evaluate personal responses, informed 
insights and differing viewpoints. Examiners should make use of the whole of the available mark 
range of any particular question and be prepared to award full marks for a response which is as 
good as might reasonably be expected of a 16-year-old GCSE candidate. 
 
Awarding zero marks 
Marks should only be awarded for valid responses and no marks should be awarded for an 
answer which is completely incorrect or inappropriate. 
 
Types of mark scheme 
Mark schemes for questions which require candidates to respond in extended written form are 
marked on the basis of levels of response which take account of the quality of written 
communication. 
 
Other questions which require only short answers are marked on a point for point basis with 
marks awarded for each valid piece of information provided. 
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Levels of response 
Questions requiring candidates to respond in extended writing are marked in terms of levels of 
response. In deciding which level of response to award, examiners should look for the “best fit” 
bearing in mind that weakness in one area may be compensated for by strength in another. 
In deciding which mark within a particular level to award to any response, examiners are 
expected to use their professional judgement. The following guidance is provided to assist 
examiners. 
 
• Threshold performance: Response which just merits inclusion in the level and should be 

awarded a mark at or near the bottom of the range. 
• Intermediate performance: Response which clearly merits inclusion and should be 

awarded a mark at or near the middle of the range. 
• High performance: Response which fully satisfies the level description and should be 

awarded a mark at or near the top of the range. 
 
Quality of written communication 
Quality of written communication is taken into account in assessing candidates’ responses to all 
tasks and questions that require them to respond in extended written form. These tasks and 
questions are marked on the basis of levels of response. The description for each level of 
response includes reference to the quality of written communication. Where the quality of 
content is not matched by the quality of written communication, marks awarded will not exceed 
maximum for Level 2. 
 
For conciseness, quality of written communication is distinguished within levels of response as 
follows: 
 
Level 1: Quality of written response is limited. 
Level 2: Quality of written response is satisfactory. 
Level 3: Quality of written response is of a high standard. 
 
In interpreting these level descriptions, examiners should refer to the more detailed guidance 
provided below: 
 
AO1: [5] marks 
 
A [0] mark will be awarded if the answer is inappropriate. 
 
Level 1 (Limited) ([1]) 
The candidate gives a basic answer with limited description, explanation and analysis using little 
knowledge and understanding. There is only a limited selection and use of an appropriate form 
and style of writing. The organisation of material may lack clarity and coherence. There is little 
use of specialist vocabulary. Presentation, spelling, punctuation and grammar may be such that 
intended meaning is not clear. 
 
Level 2 (Satisfactory) ([2]–[3]) 
The candidate gives a satisfactory answer with appropriate description, explanation and 
analysis using some knowledge and understanding. There is a reasonable selection and use of 
an appropriate form of style and writing. Relevant material is organised with some clarity and 
coherence. There is some use of appropriate specialist vocabulary. Presentation, spelling, 
punctuation and grammar are sufficiently competent to make meaning clear. 
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Level 3 (High) ([4]–[5]) 
The candidate gives a competent answer with very good description, explanation and analysis 
using knowledge and understanding throughout. The candidate successfully selects and uses 
an appropriate form and style of writing. Relevant material is organised with a high degree of 
clarity and coherence. There is widespread use of appropriate specialist vocabulary. 
Presentation, spelling, punctuation and grammar are of a consistently high standard to make 
meaning clear. 
 
AO2: [5] marks 
 
A [0] mark will be awarded if the answer is inappropriate. 
 
Level 1 (Limited) ([1]) 
The candidate uses a basic selection of evidence and gives limited reasoned arguments to 
express and evaluate personal responses, informed insights and differing viewpoints. There is a 
limited selection and use of an appropriate form and style of writing. The organisation of 
material may lack clarity and coherence. There is little use of specialist vocabulary. 
Presentation, spelling, punctuation and grammar may be such that intended meaning is not 
clear. 
 
Level 2 (Satisfactory) ([2]–[3]) 
The candidate uses a satisfactory selection of evidence and gives good reasoned arguments to 
express and evaluate personal responses, informed insights and differing viewpoints. There is a 
reasonable selection and use of an appropriate form and style of writing. Relevant material is 
organised with some clarity and coherence. There is some use of appropriate specialist 
vocabulary. Presentation, spelling, punctuation and grammar are sufficiently competent to make 
meaning clear. 
 
Level 3 (High) ([4]–[5]) 
The candidate uses a very good selection of evidence and gives well formed and reasoned 
arguments to express and evaluate personal responses, informed insights and differing 
viewpoints. The candidate successfully selects and uses an appropriate form and style of 
writing. Relevant material is organised with a high degree of clarity and coherence. There is 
widespread use of appropriate specialist vocabulary. Presentation, spelling, punctuation and 
grammar are of a consistently high standard to make meaning clear. 
 
AO2: [10] marks 
 
A [0] mark will be awarded if the answer is inappropriate. 
 
Level 1 (Limited) ([1]–[3]) 
The candidate uses a basic selection of evidence and gives limited reasoned arguments to 
express and evaluate personal responses, informed insights and differing viewpoints. There is a 
limited selection and use of an appropriate form and style of writing. The organisation of 
material may lack clarity and coherence. There is little use of specialist vocabulary. 
Presentation, spelling, punctuation and grammar may be such that intended meaning is not 
clear. 
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Level 2 (Satisfactory) ([4]–[7]) 
The candidate uses a satisfactory selection of evidence and gives good reasoned arguments to 
express and evaluate personal responses, informed insights and differing viewpoints. There is a 
reasonable selection and use of an appropriate form and style of writing. Relevant material is 
organised with some clarity and coherence. There is some use of appropriate specialist 
vocabulary. Presentation, spelling, punctuation and grammar are sufficiently competent to make 
meaning clear. 
 
Level 3 (High) ([8]–[10]) 
The candidate uses a very good selection of evidence and gives well formed and reasoned 
arguments to express and evaluate personal responses, informed insights and differing 
viewpoints. The candidate successfully selects and uses of an appropriate form and style of 
writing. Relevant material is organised with a high degree of clarity and coherence. There is 
widespread use of appropriate specialist vocabulary. Presentation, spelling, punctuation and 
grammar are of a consistently high standard to make meaning clear. 
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Section A AVAILABLE 
MARKS 

Answer all questions 
 
1 Baptism 
 
 (a) (i) Baptismal font, church building. 
   Accept valid alternatives 
   (AO1)                                                                                           [1] 
 
              (ii)  Priest 
                    Accept valid alternatives 
                    (AO1)                                                                                            [1] 
 
  (iii) Water, oil, white clothes, candle, sign of the cross. 
   Accept valid alternatives 
   (AO1) [3] 
 
 (b) Answers may include: 
  • the child is cleansed from original sin 
  • it symbolises the start of a new life with Christ 
  • the child becomes a member of the Catholic Church 
  • the Holy Spirit is received through baptism 
  • without baptism no other sacrament can be received. 
  Accept valid alternatives 
  Mark in levels 
  (AO1) [5] 
 
 (c) Answers may include: 
  • renewing promises every year reminds the person of their 

commitment to the church and to God 
  • it allows the person to examine their own faith each year 
  • public affirmation may encourage others to be baptised. 
 
  On the other hand: 
  • faith is a personal matter and some may feel embarrassed to 

renew their promises publicly 
  • attending church services regularly shows you are committed 

therefore renewing it publicly every week. 
  Accept valid alternatives 
  Mark in levels 

 (AO2) [5] 
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Section A AVAILABLE 
MARKS 

2 Marriage  
 

(a) (i) Any two of the following: 
   • to have and to hold from this day forward 

• for better for worse 
• for richer for poorer 
• in sickness and in health 
• to love and to cherish 
• until death us do part. 

   (AO1) [2] 
 
  (ii) Love and fidelity/unending love/eternal love. 
   (AO1) [1] 
 

 (iii) Any two of the following: 
   • the couple want to spend the rest of their lives together 

• the couple are in love 
• to have a lifetime companion 
• to make a public commitment to each other 
• raise a family. 

   Accept valid alternatives 
   (AO1) [2] 
 
 (b) Answers may include: 
  • the couple promised in their marriage ceremony that they will 

accept any children given by God 
  • contraception goes against natural law and is considered a 

serious sin 
  • Catholics can plan their family naturally with natural family 

planning 
  • Catholics live by the teaching from Genesis “be fruitful and 

multiply”. 
 
  On the other hand: 
  • many people believe contraception should be a matter for 

individual conscience 
  • many believe contraception helps responsible family planning 
  • artificial contraception is more reliable than natural family planning 
  • many couples today cannot afford to have large families 
  • to prevent unwanted pregnancy 
  • to prevent the spread of sexual transmitted disease. 
    Accept valid alternatives 
  Mark in levels 
  (AO2)  [10] 
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Section A AVAILABLE 
MARKS 

3 Church Festivals  
 
 (a) A description from Acts 2:1–8. 
  Mark in levels 
  (AO1)  [5] 
 
 (b) Answers may include: 
  • Easter forms the basis of the Christian faith 
  • Jesus overcame the power of death and sin which gives 

Christians hope of a future resurrection 
  • Jesus performed the greatest miracle by rising from the dead 
  • Jesus proved that he was the Son of God 
  • Jesus fulfilled the prophecies he had made and Christians have 

confidence that he will fulfil other prophecies he made.  
  Accept valid alternatives 
  Mark in levels 
  (AO1) [5] 
 
 (c) Answers may include: 
  • Christianity is based on the life of Jesus and therefore need to be 

reminded of his good deeds and teachings 
  • Christians need to reflect on the past lives of saints to try to 

emulate their sacrifices and achievements 
  • some festivals are public holidays and this allows people to reflect 

on their importance. 
 
  On the other hand: 
  • the Church needs to focus on how people live today and on doing 

good deeds 
  • the Church needs to respond to the challenges facing Christianity 

today and give guidance to people.  
  Accept valid alternatives 
  Mark in levels 
  (AO2) [5] 
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Section A AVAILABLE 
MARKS 

4 Church Government 
 
 (a) Answers may include: 
  • hierarchical structure, papal supremacy.  
  Mark in levels 
  (AO1) [5] 
 
 (b) Answers may include: 
  • the priest is there to lead the congregation in worship 
  • the priest is there as a guide to faith and to give help and advice 

to those who require it 
  • only the priest can perform important tasks such as say Mass and 

hear confession 
  • they have an important leadership role in the church and need to 

coordinate all that is happening 
  • they have been trained for the responsibility they have. 
 
  On the other hand: 
  • St Paul compared the Church to the body of Christ, emphasising 

that everyone is equal and no-one is less important 
  • without the congregation there would be no leader therefore 

everyone is important 
  • everyone within the Church community have different roles to help 

the priest in the day-to-day running of the parish. 
   Accept valid alternatives 
  Mark in levels 
  (AO2) [10] 
 

Section A 
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Section B AVAILABLE 
MARKS 

Assessment of Spelling, Punctuation and Grammar 
If the answer does not address the question then no SPaG marks are 
available. If the candidate has attempted to answer the question but produced 
nothing of credit, SPaG marks may still be awarded. 
 
Threshold performance [1] 
Candidates spell, punctuate and use the rules of grammar with reasonable 
accuracy in the context of the demands of the question. Any errors do not 
hinder meaning in the response. Where required, they use a limited range of 
specialist terms appropriately. 
 
Intermediate performance [2]–[3] 
Candidates spell, punctuate and use the rules of grammar with considerable 
accuracy and general control of meaning in the context of the demands of the 
question. Where required, they use a good range of specialist terms with 
facility. 
 
High performance [4]–[5] 
Candidates spell, punctuate and use the rules of grammar with consistent 
accuracy and effective control of meaning in the context of the demands of the 
question. Where required, they use a wide range of specialist terms adeptly 
and with precision. 
 
5 Church Buildings 
 

(a) Ambo 
The ambo is situated near the altar. It is used to read the readings and 
gospel during Mass. The priest also says the homily from here. 
 

  Tabernacle 
  After Mass the priest places the consecrated bread in the tabernacle. 

The tabernacle is placed near the altar and Catholics genuflect in front 
of this as a mark of respect. 

  Mark in levels 
  (AO1) [5] 
 
 (b) Answers may include: 
  • altar is placed centrally emphasising the importance of the 

Eucharist 
  • icons and statues represent the presence of saints 
  • font at the door is seen as a welcoming into the church 
  • a circular church building emphasises that the congregation are 

all equal and worshipping together 
  • a cross shaped church reflects the importance of the death of 

Jesus. 
  Accept valid alternatives 
  Mark in levels 
  (AO1) [5] 
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Section A AVAILABLE 
MARKS 

(c) Answers may include: 
  • older church buildings are part of our historical heritage and 

should not be allowed to deteriorate because of a lack of funds 
  • some repairs are very costly and the National Lottery can help 

ease the burden of such costs 
  • church buildings are used to help the local community therefore 

money from the National Lottery can ensure these projects 
continue. 

 
  On the other hand: 
  • the church communities should fundraise themselves as they are 

the ones who use the building 
  • grants from the National Lottery come from people’s weakness of 

gambling therefore the church should not encourage such 
activities. 

  Accept valid alternatives 
  Mark in levels 
  (AO2) [10] 
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Section A AVAILABLE 
MARKS 

6 St Patrick  
 
 (a) Answers may include: 
  • Patrick’s capture and role as a slave  
  • reference to Patrick’s writings, e.g. letter to Coroticus,  

the confessions 
  • Patrick’s escape, dreams and return to Ireland.  

 Accept valid alternatives 
  Mark in levels 
  (AO1) [5] 
 
 (b) Answers may include: 
  • Patrick was a prayerful person praying to God up to a 100 times a 

day 
  • Patrick was a good leader defending the Christians in his letter to 

Coroticus 
  • Patrick was courageous in how he faced his many difficulties, 

e.g. time as a slave, his escape, protecting his fellow Christians 
  • Patrick was a good communicator in that he had the ability to 

explain the Christian message clearly.  
  Accept valid alternatives 
  Mark in levels 
  (AO1) [5]  
 
 (c) Answers may include: 
  • it is harder due to the many distractions many people face today, 

e.g. media, money, etc. 
  • there are a large variety of religions to choose from in the  

21st century 
  • some people find “traditional” religions boring and uninspiring 
  • some people question whether Jesus’ miracles are real or just 

illusions 
  • the church has had some bad press in recent years. 
  
  On the other hand: 
  • Christians at the time of Patrick faced greater obstacles such as 

persecution and this is not a major problem in the 21st century 
  • it is easier to spread the message through media networking sites 

such as facebook, myspace, etc. thus reaching larger audiences 
  • religion is taught in schools therefore people have a greater 

understanding of the Christian faith. 
  Accept valid alternatives 
  Mark in levels 
  (AO2) [10] 
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Section A AVAILABLE 
MARKS 

7 Vocation 
 

(a) Ordination takes place after the Liturgy of the word and follows the 
following pattern: 

  • presentation of the candidate 
  • the investiture and prostration 
  • anointing of hands 
  • presentation of gifts 
  • sign of peace. 

  Accept valid alternatives 
  Mark in levels 
  (AO1) [5] 
 
 (b)  Answers may include an explanation of the following: 
  • laying on of hands 
  • stole and chasuble 
  • chalice and paten 
  • sign of peace. 
  Accept valid alternatives 
  Mark in levels 
  (AO1) [5]  
 

(c) Answers may include: 
  • priests need to focus fully on their duties 
  • priests can be moved easily from one parish to another if required 
  • priests are “married” to the church and therefore devote all their 

time to God and his people. 
 
  On the other hand: 
  • there is a shortage of priests and therefore allowing them to marry 

may encourage more to choose the priesthood 
  • priests would have a better understanding of marital and family 

problems  
  • priests were allowed to marry in the early church 
  • other Christian traditions allow their ministers to marry. 
  Accept valid alternatives 
  Mark in levels 
  (AO2) [10] 
 

Section B 
 

SPG 
 

Total 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

20 
 

40 
 

5 
 

105 
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